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Fig. A-6. a) sg 22, b) sg 23, c¢) sg 24, d) sg 25 in SC-2

546




Displacement (mm) Displacement (mm)
-203  -152 102 51 0 51 102 152 203 254 -203  -152  -102  -51 0 51 102 152 203 254
10000 f f f f f f f 5000
| |
8000 - ------— R —— - 4000
| |
6000 - ------ e Il e e - - 3000
— ! ! —~
£ 4000 ! 1 | § 2000
@ 2000 1 | @ 1000
o o
2 | | 2
E 0 T T E 0
£ I =T £
c 2000 |------- R B = -1000
3 ! 3
= -4000 I — = -2000 ;
2 | . (2] [ t‘;lﬁ‘-‘nchvﬁ)
6000 [~~~ —~ - i I Fod" o) -3000 N
8000 F---- - -l
-10000 ! -5000
-8 -6 -4 2 0 2 4 6 8 10 -8 -6 -4 2 0 2 4 6 8 10
Displacement (inch) (b) Displacement (inch)
Displacement (mm) Displacement (mm)
-203  -152  -102  -51 0 51 102 152 203 254 -203  -152 102  -51 0 51 102 152 203 254
10000 . . . f . . . 10000 . . . . . . f
| |
8000 — I 8000 |
|
6000 — I 6000
— ! —
.% 4000 B : -% 4000
@ 2000 g ! @ 2000
o ‘ o
é 0 é 0
= -2000 g | T -2000
£ | : £
= -4000 1 I W = -4000
2] I 10 inches. 11| n
6000 F-—--———-———-—-—-—- i (254 mm) 4 — -6000
-8000 1 | -8000
-10000 ‘ -10000 ‘
-8 -6 -4 -2 0 2 4 6 8 10 -8 -6 -4 2 0 2 4 6 8
Displacement (inch) (d) Displacement (inch)

Fig. A-7. a) sg 26, b) sg 27, c¢) sg 28, d) sg 29 in SC-2
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Fig. A-8.a)sg 31,b)sg 32, c)sg33,d)sg34in SC-2




Fig. A-9. a) sg 35, b) sg 36, c) sg 37, d) sg 38 in SC-2
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Fig. A-10. a) sg 40, b) sg 41, ¢) sg 42, d) sg 43 in SC-2
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(b)
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Fig. A-11. a) sg 44, b) sg 45, c) sg 46, d) sg 47 in SC-2
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Fig. A-12. a) sg 48, b) sg 49, ¢) sg 50
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Fig. A-13. a) sg 52, b) sg 53, ¢) sg 54, d) sg 55 in SC-2
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Fig. A-14. a) sg 56, b) sg 5, c¢) sg 58, d) sg 60 in SC-2
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Fig. A-15. a) sg 61, b) sg 62 in SC-2
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Fig. A-16.a)sg 1,b) sg 2, ¢) sg 3, d) sg 4 in SBR-1
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Fig. A-19. a) sg 13, b) sg 14, ¢c) sg 15
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Fig. A-21. a) sg 21, b) sg 22, c¢) sg 23, d) sg 24 in SBR-1
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Fig. A-22. a) sg 26, b) sg 27, c¢) sg 28, d) sg 29 in SBR-1
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Fig. A-24. a) sg 34, b) sg 35, c¢) sg 36, d) sg 37 in SBR-1
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Fig. A-25. a) sg 38, b) sg 39, c¢) sg 40, d) sg 41 in SBR-1
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Fig. A-28. a) sg 60, b) sg 61, c) sg 62, d) sg 63 (on the Rubber) in SBR-1
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Fig. A-39. a) sg 34, b) sg 35, c¢) sg 36, d) sg 37 in SF-2
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Fig. A-41. a) sg 42, b) sg 43, c) sg 44, d) sg 45 in SF-2
580



305

N
—
<
g
o N
- —
o
T~ T
-—|
| |
| | ~
N ! ! B
B T | | © —
| | € =
—~ fo o
E Lo 2 €y =
- S 7T
-8+ I I <« < c - c
c - | | s 2 o
g | | [ £ £
£ £ 9 o
o} | | Qo o
[ c A+ - -"'"—--- - - & - - - <
g < | | Q 5w K
S 3 T N ® D. o
= | | a K] 2
0 | | k) o a
o | | a
| | e
o T T T T T T o
| |
| | o
| | b +
- ;
v T | | o
| |
| | ~
~ | | S +
S + - | | ¥ '
' | |
| |
I I 3
o —
Kl.v 1 1 © "o
"o o o o o o o o (=] m
(=] o (=3 o (=] (=] o o N
o n o 2] n o n o
N — — i — — N
(urenysoioiw) urens _ _ _ (enisosoiw) urens
NS
~
O —
f—
wn
S B B
3 o » o
E \\\\\\\\\\\\ - = ﬂ\m. - =
£E
-
® i
QT -—-——- ——| o ) -] ®
| | | |
| | | | | | |
~ | ~ | | | | | |
o T | © o | | | 3 | | | ©
| | | | | | |
€ | 5 € | | | | | | 5
£ | c £ | | | | | | c
-9l ____a____ & ___a_____ <+ = D> i S P I TR | I B )
= 9 = = 9 =
c c c | | | | | | c
g 2 g | | | | | | 2
[} @ [} | | | | | | ]
’3 51 ’3 | | | | | | Q
c 94+ - -—--1_-_-__ & - - N ® ¢ A+ - -t-_-l__L_® ' __1__1__ N &
s ° a s | | | | | i a
0 X 0 | | | | | | K]
o a o | | | | | | a
| | | | | |
e e e T T T T T T e
| | | | | |
| | | | | |
o o | | | | | |
D T o o T | | | | | | o
| | | | | |
| | | | | |
~ ~ | | | | | |
S+ -4 ¥ S+ ——l——4——+——f -4 ——| ¥
' ' | | | | | |
| | | | | |
~ ~ | | | | | |
E © ﬁ 1 1 1 1 1 1 ©
=] o =] (=3 o (=3 o o (=3 (=3 o
[=3 (=] [=] o o (=3 o [=] o (=]
o o o n o n e} o n o
1 i N A ) A AN
(urensouoiw) urens (urensouoiw) urens
] Youn)
< 9]
~ ~

Fig. A-42. a) sg 46, b) sg 47, c) sg 48, d) sg 49 in SF-2
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Fig. A-43. a) sg 50, b) sg 51, c¢) sg 52, d) sg 53 in SF-2
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Fig. A-44. a) sg 54, b) sg 55, c¢) sg 56, d) sg 57 in SF-2

583



305

n
~N
S T -
|
— <
5 1
S I N S far / |e &
N W5 \
£.9
Ny 50]
152} //( \ o +
O +———Ff--—-—=== /&‘\l\v\\ —| N
Q ST
! N
| n 4+~ - - ——— - - - - -
m \\\\\\\\\\\\\\ === © — =
—
\m) | = € [5}
| o £ =
£ | £l = =
\\\\\\\\\\\\\\ =
P N | ) o S < c 4
¢ ,f E| :
£ ! g 5 £
£ 7] ]
) | ) O o | o
Q < | __ | — ~ © < 1n [
S © m o o
5 5| 2 2
= 2 [a) a
[a) ! a o a
o } [S)
I
|
| —
m_ [ IS Lo o o T
|
| o
N o 1l _______
St Feeees i 3
|
| o
o
o I © ©
— T T 5
=) o =3 =3 =3 o S
S S S S S S
=] =] =] =] s} <
n n o n o
'’ - - N
' ' ' (urensouoiw) urens
(uresnysoloiw) urens
)
~ o
e ~—
f—
0 o 1o} ~
5 T T T = =] , , -
| | |
| | | = ” ”
| | | w
b S (R SE _ ] o 3 L | | o
9 | { T SE = 9 | =
I | I Eg |
| | | nE WHE \ |
| | | = /( \
s i ™ —
0 T A e [ o + /.w.wluﬂ ! ©
& | | | « - - |
| | | | | |
| | | | | |
N
[ J A N B R R TR T B P 0 ©
— - —~
| | | | | | s = =
m, | | | | | | = € o
£ | | | | | | E E o £
D > J SR R N R | L____J__1 4 < - O < =
c - | | | | | | = c - =
@ S o @
| | | | | |
m | | | | | | m m m
9 | | | | | | I3 QO o o
m.ﬂi\\,\\\,\\\, \\\\\ [ i Ry IR 8w N s
o | | | | | | W > >
a | | | | | | a A a
| | | | | |
e T T T T T T e e e
| | | | | |
| | | | | |
| | | | | | ~
— N
b +-—-———-——4--§--r-——-———-1--9 « b '
| | | | | |
| | | | | |
| | | | | | o
o
e et I B S e e EEESE B 3 - b
' | | | | | | ! ! ! ! !
| | | | | | ” ” ” ”
| | | | | | o , , , ,
M I I I I I I © £} ©
; ' "o o o 9 o o 9 o 9o
S 8288 ° 8 8 g 8 g 8 g 8 g 8 8 8
(urensouoiw) urens (urensololw) urens
] Youn)
< Q
~ ~

Fig. A-45. a) sg 58, b) sg 59 (on the PT Rod), ¢) sg 60 (on the PT Rod), d) sg 62 in SF-2(on the PT Rod)
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Fig. A-46. a) sg 63, b) sg 64, c) sg 65, d) sg 66 in SF-2 (on the FRP Wrap)
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